BID T	VARD SHERIF ITLE: Emergen ING DATE:	ncy Equipment For Law Enford		V ehicles QUOTE #		TABULATION: 13104030	NOT VERIFIE VERIFIED	ED RFP #		AWARDED ITEM OR GROUP SHADED				AWARD BY: ITEM: GROUP: X	
	PART	DESCRIPTION		DOD	VENDOR		VENDOR		VENDOR				VENI		
ITEM	NUMBER	DESCRIPTION	QTY		VENDOR Adamson Industries, Corp.		VENDOR D&R Electronics Co., Ltd.		Dana Supply Supply, Inc.		Signal Technology Enterprises, Inc.		VENDOR Law Enforcement Supply Company, Inc.		-Us, Inc.
				UNIT PRICE	UNIT PRICE EXTENDED U		EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED
1	ETSA380R	Soundoff 380 Series Remote Siren Dual Tone	100	\$647.20	\$64,720.00			\$533.82	\$53,382.00	\$575.00	\$57,500.00	\$409.00	\$40.900.00	\$512.43	\$51,243.00
2	ETSA482RSP	Soundoff 400 Series Remote Siren Dual Tone	100	\$647.20	\$64,720.00			\$581.00	\$58,100.00	\$575.00	\$57,500.00	\$389.95	\$38,995.00	\$418.95	\$41,895.00
2		Whelen Dual AMP Siren, Will Run (2) 100WT Speakers, 20 Scan-Lock Tones Set To BCSO													
3	DA295BCSO	Specifications Whelen Handheld Siren/Light	100	\$1,125.00	\$112,500.00			\$420.00	\$42,000.00	\$575.00	\$57,500.00	\$389.95	\$38,995.00	\$497.84	\$49,784.00
4	HHS2200	Controller 200 Watt	30	\$570.00	\$17,100.00			\$289.00	\$8,670.00	\$260.00	\$7,800.00	\$265.00	\$7,950.00	\$285.00	\$8,550.00
5	ETSA462HPP	Soundoff 400 Series Handheld Siren Dual Tone	30	\$343.20	\$10,296.00			\$462.00	\$13,860.00	\$260.00	\$7,800.00	\$310.00	\$9,300.00	\$407.55	\$12,226.50
6	C3100U	Code 3 3100 Speaker W/B Bracket	200	\$199.00	\$39,800.00			NO BID	\$0.00	\$135.00	\$27,000.00	\$114.00	\$22,800.00	\$169.00	\$33,800.00
7	SA315P	Whelen Compact 100 Watt Siren Speaker, To Include SAK Mounting Bracket	200	\$350.00	\$70,000.00			\$135.00	\$27,000.00	\$129.00	\$25,800.00	\$129.95	\$25,990.00	\$138.00	\$27,600.00
	SUB TOTALS	-			\$379,136.00				\$203,012.00		\$240,900.00	·	\$184,930.00		\$225,098.50

WITNESS:

NO BID:

Penelope Burger



DATE: July 19, 2013

Thank You For Your Response.

PURCHASING AGENT: Patrick J. Callagy

	ARD SHERIFF'S C TLE: Emergency Ed	uipment For Law Enforcement Vehicles		I	I	TABULATION:NOT VERIFIED VERIFIED			4	AWARD				AWARD BY: ITEM:	
		FI July 19, 2013 TIME: 3:00		QUOTE #	BID#	13104030		RFP #	1	SHADED				GROUP: X	
FOR:		1.		<u></u>	DID#	10101000			1						
TEM	PART #	DESCRIPTION		VENI	OOR	VFN	IDOR	VE	NDOR	VEN	DOR	VFN	NDOR	VF	NDOR
				VEN		V LIN	2.51	VE		Signal Te			ement Supply	VE	
				Adamson Indu	ustries, Corp.	D&R Electro	nics Co., Ltd.	Dana Suppl	y Supply, Inc.	Enterpris			any, Inc.	Strobes	R-Us, Inc.
					· · ·							•			· · ·
				UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED
		Apex LED Lightbar W/LED TD &													
		Alleys All Blue LED, Blue End Caps, 1-													
	EPX3000	Amber, 1-Red Module In Rear	100	\$1,200.00	\$120.000.00			\$1,600.00	\$160.000.00	\$895.00	\$89,500.00	\$1.049.95	\$104,995.00	\$1,199.00	\$119,900.00
5	EFA5000	Amber, 1-Ked Module in Keai	100	\$1,200.00	\$120,000.00			\$1,000.00	\$100,000.00	\$895.00	\$89,500.00	\$1,049.95	\$104,995.00	\$1,199.00	\$119,900.00
		Whelen Premium LightBar, Custom													
	CL D 4050	Built To BSO Dept. Specs. Vehicle													
	CLB4850 BCSOZ81	Mount Kit Is Included, Specify Vehicle:	100	\$3,325.00	\$332,500.00			\$1,350.00	\$135,000,00	\$1,000.00	\$100.000.00	\$1.069.00	\$106,900.00	¢1.140.00	¢114.000.00
ł	BCSUZ81	Caprice	100	\$3,325.00	\$332,500.00			\$1,350.00	\$135,000.00	\$1,000.00	\$100,000.00	\$1,069.00	\$106,900.00	\$1,149.00	\$114,900.00
10	EL3H12A20J	Sounfoff 12 Mod Ultralite	100	\$379.00	\$37,900.00			\$553.88	\$55,388.00	\$298.00	\$29,800.00	\$405.00	\$40,500.00	\$487.92	\$48,792.00
											,				
		Whelen Dominator 8-Lamp TIR3 Super													
11	TAD80080	LED	100	\$699.00	\$69,900.00			\$387.95	\$38,795.00	\$298.00	\$29,800.00	\$315.00	\$31,500.00	\$380.80	\$38,080.00
	EL QUO (A OOF		50	¢1<2.20	¢0.115.00			#220 7 5	¢11.027.50	6105.00	¢0.250.00	¢155.00	¢7.750.00	6210.22	010 516 50
12	EL3H04A00E	Soundoff 4 Module Ultralite	50	\$162.30	\$8,115.00			\$238.75	\$11,937.50	\$185.00	\$9,250.00	\$155.00	\$7,750.00	\$210.33	\$10,516.50
		Whelen Dominator 6-Lamp TIR3 Super													
13	D633000	LED	50	\$507.00	\$25,350.00			\$293.81	\$14,690.50	\$265.00	\$13,250.00	\$263.30	\$13,165.00	\$283.92	\$14,196.00
				+++++++++++++++++++++++++++++++++++++++	+				+,		+,				
		Whelen Dominator 4-Lamp TIR3 Super													
14	D422000	LED	50	\$344.00	\$17,200.00			\$199.35	\$9,967.50	\$185.00	\$9,250.00	\$155.00	\$7,750.00	\$192.64	\$9,632.00
15	EL3SNR	Soundoff LED3 Mini Light	200	\$39.60	\$7,920.00			\$54.35	\$10.870.00	\$43.75	\$8,750.00	\$39.00	\$7,800.00	\$47.88	\$9,576.00
15	ELSSINK	Solid-State Headlight & Tail Light Flasher,	200	\$39.00	\$7,920.00			\$34.33	\$10,870.00	\$43.75	\$8,750.00	\$39.00	\$7,800.00	\$47.88	\$9,576.00
		Solid-State Headlight & Tall Light Flasher,													
16	SSFPOSI6	Chevy Police Package Vehicles	75	\$110.00	\$8,250.00			\$58.53	\$4,389.75	\$80.00	\$6.000.00	\$38.95	\$2,921.25	\$45.00	\$3,375.00
		, ,			1.17 2.222										
		Whelen Surface Mount Super-LED, TIR3													
	1	Red LED With Clear Outer Lens, Black													
17	RSR03ZCR	Mounting Flange Included	100	\$94.00	\$9,400.00			\$54.47	\$5,447.00	\$43.75	\$4,375.00	\$42.40	\$4,240.00	\$47.00	\$4,700.00
	1	Whelen Surface Mount Super-LED, TIR3													
18	RSB03ZCR	Blue LED With Clear Outer Lens, Black Mounting Flange Included	100	\$94.00	\$9,400.00			\$54.47	\$5,447.00	\$43.75	\$4,375.00	\$42.40	\$4,240.00	\$47.00	\$4,700.00
10	RSBUSZUK	wounting Flange included	100	\$94.00	\$9,400.00			\$34.47	\$5,447.00	\$43.73	\$4,373.00	\$42.40	\$4,240.00	\$47.00	\$4,700.00
		Soundoff Surface Mount Ghost Light													
19	EGHST2(J)	(Red/Blue)	200	\$72.20	\$14,440.00			\$105.47	\$21,094.00	\$65.00	\$13,000.00	\$63.95	\$12,790.00	\$92.91	\$18,582.00
	·· 、、/				. ,						,				
	1	SUB													
	1	TOTALS			\$660,375.00				\$473,026.25		\$317,350.00		\$344,551.25		\$396,949.50

	ARD SHERIFF'S C					TABULATION:	NOT VERIFI	ED		AWARD				AWARD BY:	
	TLE: Emergency E	quipment For Law Enforcement Vehicles					VERIFIED		-	ITEM OR GROUP				ITEM:	
OPENI FOR:	NG DATE:	TI July 19, 2013 TIME: 3:00		QUOTE #	BID#	# 13104030		RFP #	-	SHADED				GROUP: X	
ITEM	PART #	DESCRIPTION		VEN	DOR	VEN	DOR	VEN	NDOR	VEN	DOR	VEN	JDOR	VEN	DOR
TTEM	TACT #	DESCRIPTION			lustries, Corp.		nics Co., Ltd.		y Supply, Inc.	Signal Te Enterpri	chnology	Law Enforc	ement Supply any, Inc.		R-Us. Inc.
				UNIT DDICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED
				UNIT PRICE	EATENDED	UNIT PRICE	EATENDED	UNIT PRICE	EATENDED	UNIT PRICE	EATENDED	UNIT PRICE	EATENDED	UNIT PRICE	EXTENDED
		Whelen Surface Mount Super_LED, Split Red/Blue LEDS With Clear Outer													
20	LINZ6J	Lens, Black Mounting Flange Included	200.00	\$153.60	\$30,720.00			\$63.98	\$12,796.00	\$65.00	\$13,000.00	\$59.00	\$11,800.00	\$69.00	\$13,800.00
20		Lons, Dater Mounting Flange Mended	200100	0100100	\$50,720,000			400.00	012,790.00	\$05100	\$15,000,000	\$57100	\$11,000.00	<i>QO</i>	\$15,000100
1		Soundoff Universal Undercover LED				1									
21	ELUC2S010R	Insert (Red)	100	\$53.60	\$5,360.00			\$80.23	\$8,023.00	\$50.00	\$5,000.00	\$47.75	\$4,775.00	\$70.68	\$7,068.00
		Whelen Vertex Hide-A-Way super-LED													
22	VTX609J	Split Red/Blue	200	\$134.00	\$26,800.00			\$58.00	\$11,600.00	\$50.00	\$10,000.00	\$51.75	\$10,350.00	\$62.00	\$12,400.00
23	ELUC2S010B	Soundoff Universal Undercover LED Insert (Blue)	100	\$53.60	\$5,360.00			\$80.23	\$8.023.00	\$50.00	\$5,000.00	\$47.75	\$4,775.00	\$70.68	\$7.068.00
23	ELUC23010B		100	\$33.00	\$3,300.00			\$60.25	\$6,025.00	\$30.00	\$5,000.00	\$47.75	\$4,775.00	\$70.08	\$7,008.00
		Chevy Tahoe Fog Light Mount Super LED,													
	FECTION	With Clear Extended Lens, Synchronizable	(0)	¢10<00	¢11.7.0.00	1		¢112.50	¢< 014 00	¢100.00	¢< 000.00	\$102.00	¢< 120.00	\$100 TC	\$4 FDF 40
24	FECT10JR	Split Red/Blue, With White Driving Lights	60	\$196.00	\$11,760.00			\$113.58	\$6,814.80	\$100.00	\$6,000.00	\$102.00	\$6,120.00	\$109.76	\$6,585.60
25	EGHST6EB	Soundoff Ghost Dual Stacked (Blue/White)	20	\$143.00	\$2,860.00	1		\$211.58	\$4,231.60	\$130.00	\$2,600.00	\$127.95	\$2,559.00	\$186.39	\$3,727.80
23	ECPNTK	Soundon Onosi Duai Stacked (Blue/While)	20	\$145.00	\$2,800.00			\$211.36	\$4,231.00	\$150.00	\$2,000.00	\$127.93	\$2,339.00	\$100.39	\$5,121.60
26	FIBRB	Soundoff Intersector Fender Light Red/Blue	140	\$230.00	\$32,200.00			\$339.70	\$47,558.00	\$110.00	\$15,400.00	\$219.00	\$30,660.00	\$299.25	\$41,895.00
27	ENT2B3B	Soundoff Intersector LED-Blue	20	\$107.80	\$2,156.00			\$159.82	\$3,196.40	\$55.00	\$1,100.00	\$109.00	\$2,180.00	\$140.79	\$2,815.80
1		Whelen Sidkick Super-LED Split Red/Blue			1										
28	SK02WJJ	For Chevy Caprice	140	\$484.00	\$67,760.00	1		\$280.00	\$39,200.00	\$398.00	\$55,720.00	\$225.00	\$31,500.00	\$271.04	\$37,945.60
20	51202 1133		. 10	ψτστινο	φ07,700.00	1		φ200.00	ψ52,200.00	<i>\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\</i>	φ <i>35,12</i> 0.00	ψ223.00	φ31,300.00	ψ271.04	φ <i>στ_γσ</i> το.00
		Suburban/Taboa VI D Immedia Erri I													
		Suburban/Tahoe XLP Inneredge, Extra Low Profile Front Upper Unit With Ten 3-LED				1									
		Lamps, 2-Piece With Two													
		Flashing/TakeDowns, Color Code													
29	IX13UFZ	IXP55000	10	\$995.00	\$9,950.00			\$576.61	\$5,766.10	\$630.00	\$6,300.00	\$505.00	\$5,050.00	\$557.20	\$5,572.00
1		Caprice XLP Inneredge, Extra Low Profile				1									
		Front Upper Unit With Ten 3-LED Lamps,				1									
30	IX37UFZ	2-Piece With Two Flashing/TakeDowns, Color Code IXP55000	10	\$995.00	\$9,950.00	1		\$576.61	\$5,766,10	\$630.00	\$6,300.00	\$505.00	\$5,050.00	\$557.20	\$5,572.00
50	143/012	Color Colle IAI 55000	10	\$775.00	\$7,750.00			¢370.01	\$5,700.10	\$050.00	\$0,500.00	\$202.00	\$5,050.00	\$337.20	\$5,572.00
1		Ford Inteceptor Utility XLP InnerEdge, Extra L:ow Profile Front Upper INIT With													
		Ten 3-LED Lamps, 2-Piece With Two													
		Flashing/TakeDowns, Color Code													
31	IX34UFZ	IXP55000	15	\$995.00	\$14,925.00			\$576.61	\$8,649.15	\$630.00	\$9,450.00	\$505.00	\$7,575.00	\$557.20	\$8,358.00
		SUB TOTALS			\$219,801.00				\$161,624.15		\$135.870.00		\$122,394.00		\$152,807.80
	1	IUIALS			\$219,801.00	1		<u>[</u>	\$101,024.15	I	\$135,870.00		\$122,394.00		\$152,007.00

	ARD SHERIFF'S C					TABULATION:	NOT VERIF	ED		AWARD ITEM OR GROUP				AWARD BY: ITEM:	
		quipment For Law Enforcement VehiclesTI July 19, 2013TIME: 3:00		QUOTE #	BID#	# 13104030		RFP #	-	SHADED				GROUP: X	
FOR:	DADT#	DESCRIPTION					DOD			UEN	DOD	LUCA	IDOD		IDOD
ITEM	PART #	DESCRIPTION		VEN	DOR	VEN	DOR	VEN	NDOR	VEN Signal Te	DOR chnology		NDOR ement Supply	VEN	IDOR
				Adamson Industries, Corp.		D&R Electronics Co., Ltd.		Dana Suppl	y Supply, Inc.	Enterpri	ses, Inc.	Company, Inc.		Strobes	R-Us, Inc.
				UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED
32	EPL8000WS	Soundoff Pinnacle With Blue LEDS And TakeDowns For Chevy Caprice Front Window	10	\$597.30	\$5,973.00			\$805.20	\$8,052.00	\$630.00	\$6,300.00	\$489.00	\$4,890.00	\$695.40	\$6,954.00
33	EPL8000RD	Soundoff Pinnacle All Blue With Two Red Modules For Chevy Caprice Rear Window	10	\$570.87	\$5,708.70			\$769.56	\$7,695.60	\$652.00	\$6,520.00	\$489.00	\$4,890.00	\$677.91	\$6,779.10
34	EPL8000WS	Soundoff Pinnacle With Blue LEDS And TakeDowns For Chevy Tahoe Front Window	10	\$597.30	\$5.973.00			\$805.20	\$8.052.00	\$630.00	\$6,300.00	\$489.00	\$4.890.00	\$695.40	\$6.954.00
35	UT-101	Havis Universal LapTop Mount, Non- Electric Tray	100	\$208.59	\$20,859.00			\$180.00	\$18,000.00	\$149.00	\$14,900.00	\$171.90	\$17,190.00	\$179.62	\$17,962.00
36	K-9 CAGE	American Aluminum K9 Cage - Tahoe	10	\$1,539.00	\$15,390.00			\$1,750.00	\$17,500.00	\$1,825.00	\$18,250.00	\$1,624.25	\$16,242.50	\$1,645.00	\$16,450.00
37	НР-5010-В	ACE K9 Hot-N-Pop For Tahoe	10	\$1,169.00	\$11,690.00			\$1,049.00	\$10,490.00	\$1,049.00	\$10,490.00	\$989.00	\$9,890.00	\$944.10	\$9,441.00
38	HA-CMD-D	Ace K9 Fan & Module	10	\$249.00	\$2,490.00			\$225.00	\$2,250.00	\$225.00	\$2,250.00	\$207.95	\$2,079.50	\$202.50	\$2,025.00
39	HA-CMD-D	Ace K9 Carbon Monoxide Detector	10	\$170.00	\$1,700.00			\$150.00	\$1,500.00	\$150.00	\$1,500.00	\$139.49	\$1,394.90	\$135.00	\$1,350.00
40	HA-RBM-FI	Ace K9 Long Range Remote Pager Module	10	\$323.95	\$3,239.50			\$294.95	\$2,949.50	\$295.00	\$2,950.00	\$274.00	\$2,740.00	\$220.00	\$2,200.00
41	TREMCO	Tremco Anti Theft Device For Tahoe	10	\$92.00	\$920.00			\$105.75	\$1,057.50	\$106.00	\$1,060.00	\$97.25	\$972.50	\$99.00	\$990.00
42	PRO-GARD SAFESTOP	Pro-Gard Safe Stop Anti Theft Device For Chevy Tahoe	10	\$120.00	\$1,200.00			\$129.88	\$1,298.80	\$75.00	\$750.00	\$110.70	\$1,107.00	\$128.80	\$1,288.00
43	3160B	Go Rhino Tahoe Push Bumper	10	\$249.00	\$2,490.00			\$234.91	\$2,349.10	\$285.00	\$2,850.00	\$236.59	\$2,365.90	\$260.90	\$2,609.00
44	PB57T07 LEDRB	Pro-Gard LED Push Bumper Chevy Tahoe	10	\$645.00	\$6,450.00			\$679.05	\$6,790.50	\$495.00	\$4,950.00	\$624.49	\$6,244.90	\$673.40	\$6,734.00
45	5082B	Go Rhino Caprice Push Bumper Pro-Gard Tahoe Push Bumper Black	70	\$169.00	\$11,830.00			\$173.12	\$12,118.40	\$175.00	\$12,250.00	\$179.65	\$12,575.50	\$192.27	\$13,458.90
46	PB57T11	PowderCoat	10	\$212.62	\$2,126.20			\$216.70	\$2,167.00	\$175.00	\$1,750.00	\$232.95	\$2,329.50	\$214.90	\$2,149.00
47	P5314CC11A	Pro-Gard Sedan Prisoner Transport Partition, Caprice, Polycarbonate Center Slider Window With Expanded Metal Insert	70	\$469.00	\$32,830.00			\$461.64	\$32,314.80	\$595.00	\$41,650.00	\$399.98	\$27,998.60	\$457.80	\$32,046.00
48	SP53BCC11	Pro-Gard Pair of 20" Steel Extention Panels For Above	70	\$54.80	\$3,836.00			\$55.05	\$3,853.50	INCLUDED		\$52.54	\$3,677.80	\$54.60	\$3,822.00
49	RP53CC11	Pro-Gard Space Saver Design Recessed Panel For Above	70	\$69.10	\$4,837.00			\$69.88	\$4,891.60	INCLUDED		\$65.09	\$4,556.30	\$69.30	\$4,851.00
		SUB TOTALS			\$139,542.40				\$143,330.30		\$134,720.00		\$126,034.90		\$138,063.00

BROW	ARD SHERIFF'S O	FFICE				TABULATION:	NOT VERIFI	ED	1	AWARD					
BID TI	TLE: Emergency Eq	uipment For Law Enforcement Vehicles			DID	12104020	VERIFIED	DED //		ITEM OR GROUP				ITEM:	
FOR:	NG DATE:	TI July 19, 2013 TIME: 3:00		QUOTE #	BID#	# 13104030		RFP #	-	SHADED				GROUP: X	
ITEM #	PART #	DESCRIPTION		VEN	DOR	VEN	DOR	VEN	NDOR	VEN	IDOR	VEN	NDOR	VEN	DOR
				Adamson Industries, Corp.			nics Co., Ltd.		y Supply, Inc.	Signal Te	echnology ises, Inc.	Law Enforcement Supply Company, Inc.			R-Us, Inc.
				UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED
50	\$53CC11	Pro-Gard Charcoal Grey ABS Standard Replacement Seat For Chevy Caprice	70	\$368.00	\$25,760.00			\$319.76	\$22,383.20	\$295.00	\$20,650.00	\$276.73	\$19,371.10	\$317.10	\$22,197.00
<u>51</u>	WB53N PCC11	Pro-Gard Pair Of Steel Window Bars For Use With OEM DoorPanels	70	\$144.00	\$10,080.00			\$155.21	\$10,864.70	\$120.00	\$8,400.00	\$137.43	\$9,620.10	\$154.00	\$10,780.00
52	HOWLERS	Whelen Low Frequency Tone Siren, Suburban/Tahoe With (2) Speakers	5	\$725.00	\$3,625.00			\$420.13	\$2,100.65	\$399.00	\$1,995.00	\$365.00	\$1,825.00	\$406.00	\$2,030.00
53	901-0078A	D&R Caprice Console With Space For Forward Mounted Computer. Console Has 3 Cigar Plugs built In & Can Hold 5 Pieces of Equip. Console Includes All Equipment Face Plates To Customer Satisfaction	70	\$171.00	\$11,970.00	\$181.00	\$12,670.00	\$187.35	\$13,114.50	\$171.50	\$12,005.00	\$174.28	\$12,199.60	\$171.50	\$12,005.00
54	CA-0107LS	D&R Dual Cup Holder With One Standard Can Size Position & One Large Size Position	70	\$19.80	\$1,386.00	\$22.00	\$1,540.00	\$17.58	\$1,230.60	\$21.00	\$1,470.00	\$21.75	\$1,522.50	\$21.00	\$1,470.00
55	CA-0115	D&R Flip Up Full Size Arm Rest With Heavy Duty Rubber Pad	70	\$46.60	\$3,262.00	\$52.00	\$3,640.00	\$54.29	\$3,800.30	\$49.70	\$3,479.00	\$49.83	\$3,488.10	\$49.70	\$3,479.00
56	906-0195A	D&R Caprice LapTop Mount With Tilt And Swivel & Adapter To Mount UTX	70	\$141.00	\$9,870.00	\$173.00	\$12,110.00	\$179.70	\$12,579.00	\$164.50	\$11,515.00	\$158.17	\$11,071.90	\$164.50	\$11,515.00
57	932-0020A	D&R In Trunk Passenger Side Storage Panel With Flip Down Locking Door To Mount All Emergency Equipment	70	\$219.20	\$15,344.00	\$231.00	\$16,170.00	\$242.41	\$16,968.70	\$221.90	\$15,533.00	\$218.83	\$15,318.10	\$221.90	\$15,533.00
		D&R Oversize Tahoe Console With Side Storage Pocket Can Support 6 Pieces Of Equipment. Console Includes All Equipment Face Plates To Customer	10												
<u>58</u> 59	901-0048B C-LP3	Specifications D&R 3 Outlet Cigar Plug For Console	10	\$199.00 \$22.40	\$1,990.00 \$224.00	\$206.00 \$19.00	\$2,060.00 \$190.00	\$210.29 \$21.79	\$2,102.90 \$217.90	\$192.50 \$20.30	\$1,925.00 \$203.00	\$203.33 \$19.83	\$2,033.30 \$198.30	\$192.50 \$20,30	\$1,925.00 \$203.00
<u></u>		SUB TOTALS		Ψ. σων Υ	\$83,511.00	412100	\$48,380.00	Y=+17	\$85,362.45		\$77,175.00	42703	\$76,648.00		\$81,137.00

	ARD SHERIFF'					TABULATION:	NOT VERIF	ED]	AWARD				AWARD BY:	
BID TIT	TLE: Emergency	y Equipment For Law Enforcement Vehicles		OUOTE #	DID."	12104020	VERIFIED	DED //		ITEM OR GROUP				ITEM:	
FOR:	NG DATE:	TI July 19, 2013 TIME: 3:00		QUOTE #	BID#	13104030		RFP #	1	SHADED				GROUP: X	<u> </u>
ITEM		DESCRIPTION		VENI) OR	VEN	DOR	VEN	NDOR	VEN	IDOR	VE	NDOR	VE	NDOR
TTEN		DESCRIPTION		VLIN	JOK	V LIV	DOK	V L1	DOK		chnology		ement Supply	V Li	IDOK
				Adamson Indu	ustries. Corp.	D&R Electro	nics Co., Ltd.	Dana Suppl	y Supply, Inc.		ises, Inc.		any, Inc.	Strobes	R-Us, Inc.
											,				
				UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED	UNIT PRICE	EXTENDED
		D7R Console Top Mounted Laptop													
		Assembly With Tilt And Swivel Adapter.													
10		Includes Custom Mounting Top To Support	10	A1 (1 00	*1 < 10 00	A150.00	A. 500.00	0100.50	AL 025 20	* 1 10 00	AL 100.00	AL 12 22	AL 122.20	* 1 10 00	AL 100.00
60	LT-7600E	UT-X Tray JOTTO 9C1 MDC Console For 2013	10	\$164.00	\$1,640.00	\$150.00	\$1,500.00	\$183.52	\$1,835.20	\$140.00	\$1,400.00	\$142.33	\$1,423.30	\$140.00	\$1,400.00
(1	425-6693	Caprice Include Computer Mount	70	NO BID				NO BID		\$584.00	\$40,880.00	\$357.33	\$25,013.10	\$511.00	\$35,770.00
61	423-0093	Capitee include Computer Would	70	NU BID				NO BID		\$384.00	\$40,880.00	INCLUDED	\$23,015.10	\$311.00	\$55,770.00
62	425-5483	JOTTO Exchange Plate For UTX	70	NO BID				NO BID		\$48.00	\$3,360.00	ABOVE	\$0.00	(\$60.00)	(\$4,200,00)
63	425-6038	JOTTO Dual Cup Holder	70	NO BID				NO BID		\$56.80	\$3,976.00	\$30.03	\$2,102.10	\$49.70	\$3,479.00
64	425-6260	JOTTO Desk Upper Structure ARM Rest	70	NO BID				NO BID		\$50.40	\$3,528.00	\$35.90	\$2,513.00	\$44.10	\$3,087.00
04	425 0200	JOTTO Police Console With Side Storage	,,,	ITO DID				NO BID		\$50.40	\$5,520.00	\$55.90	φ2,515.00	φ+1.10	\$5,007.00
65	425-6418	For Chevy Tahoe Include Computer Mount	10	NO BID				NO BID		\$560.00	\$5,600.00	\$377.33	\$3,773.30	\$490.00	\$4,900.00
		× *													
											1				
		SUB									1				
		TOTALS			\$1,640.00		\$1,500.00		\$1,835.20		\$58,744.00		\$34,824.80		\$44,436.00
		GRAND TOTAL			\$1,484,005.40		\$49,880.00		\$1,068,190.35		\$964,759.00		\$889,382.95		\$1,038,491.80
		GRAND IOTAL			\$1,484,005.40		\$49,880.00		\$1,068,190.35		\$964,759.00		\$889,382.95		\$1,038,491.80
		LABOR RATE			\$70/hr		NO BID		\$70/hr		\$45/hr		\$49/hr		\$48/hr
		LABOR RATE			\$70/hr		NOBID		\$70/nr		\$45/nr		\$49/nr		\$48/fir
		DELIVERY TIME													
		AFTER RECEIPT OF ORDER													
		CALENDAR DAYS			30		NO BID		60		60		60-120		15
		Chillinghing birrs			50		NOBID		00		00		00-120		15
						CAT		NIEC							
						CAL	TALOG LI	<u>NES</u>							
							D O D		The opt				- DOD		
ITEM				VENI	DOR	VENDOR		VEN	NDOR		IDOR	VENDOR		VE	NDOR
		-								Signal Technology			ement Supply		
				Adamson Inde % Discount Off C	ustries, Corp.	D&R Electronics Co., Ltd. % Discount Off Catalog List Price		Dana Supply Supply, Inc. % Discount Off Catalog List Price		Enterprises, Inc. % Discount Off Catalog List Price		Compa V Discount Off	any, Inc. Catalog List Price		R-Us, Inc. Catalog List Price
		CATALOGS		% Discount Off C	atalog List Price	% Discount Off C	atalog List Price	% Discount On	Catalog List Price	% Discount Off	Latalog List Price	% Discount Off	Catalog List Price	% Discount On	Latalog List Price
1		Whelen Catalog			5				45		NO BID		48		44
2	1	Code3 Public Safety Equip		1	10			1	NO BID	1	50	1	25		35
3	1	Federal Signal		1	5			1	NO BID	1	48	1	35		0
4		Adamson Industries Corp			1				3		20		1		0
5	1	Pro-Gard Industries		1	27				31		NO BID	1	30		30
6		Ray Allen Manufacturing			10				3		20		5		10
7	1	Havis Shield Mfg		1	27				35		40	1	36		38
		Ledco-Chargeguard			27				35		10		36		38
8		Ace By Radiotronics Inc.			5				2		5		2		10
9		Jotto Desk			NO BID				NO BID		21		30		30
10		Setina Manufacturing			20				20		30		18		0
11		Soundoff Signal			30				30		NO BID		49		43
12		American Aluminum Accessories			5				5		25		3		10
13		Lund Industries			15				5		NO BID		20		0
14		3M			NO BID				NO BID		20		1		0
15		Oracal			NO BID				NO BID		20		1		0
16		Tremco Police Products			20				15		20		1		10
17		Go Rhino Products			20				20		30		10		25
18		D & R Electronics			25		25		20		30		28		30
19		Troy Products		1	10			1	20	1	36	1	26		0